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NotEes on SoLip G&

CHAPTER 1

1. WE have seen how the position of a point in a plane with ref-
erence to a given origin O is determined by means of its distances
from two axes Ox, Oy meeting in O. In space, as there are three
dimensions, we must add a third axis Oz. So that each pair of axes
determines a plane, O and Oy determining the plane xQy; Ox
and Oz the plane 2Oz ; Oy and Oz the plane 3Oz,  And the posi-
tion of the point P with reference to the origin O is determined by
its distances PM, PN, PR from the 20y, z0x, xQy respectively, these
distances being measured on lines parallel to the axes Ox, Oy and
Oz respectively. This system of coordinates in space is called The
System of Triplanar Coordinates, and the transition to it from the
System of Rectilinear Plane Coordinates is very easy. We can best
conceive of these three coordinates of P by conceiving O as the
corner of a parallelopipedon of which OA, OB, OC are the edges,
and the point P is the opposite corner, so that OP is one diagonal of
the parallelopipedon.

2. If PM = OA = ¢, PN = OB = 4, PR = OC = ¢, the equations
of the point P are x = @, ¥y = §, 2 = ¢, and the point given by these
equations may be found by the following construction : Measure on
OX the distance OA = a, and through A draw the plane PNAR
parallel to the plane 3Oz, Measure on Oy the distance OB = 4,
and draw the plane PMBR parallel to 4Oz, and finally lay off OC
= ¢ and draw the plane PMCN parallel to xOy. The intersection
of these three planes is the pcint P required. (Fig. 1.)*

3. The three axes Ox, Oy, Oz are called the axes of a;, y, and z
respectively ; the three planes xQy, xOgz, and 3Oz are called the

* For Figures see Plates I. and II. at'end of book.
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4 NOTES ON SOLID GEOMETRY.

planes xy, xz and jz respectively. The point whose equations are
x =a, ¥ = b, x = cis called the point (a, 4, ¢).

4. The coordinate planes produced indefinitely form eight solid
angles about the point O. As in plane coordinates the axes Ox
‘and Oy dquoe ~tm plane considered into four compartments, so in
space coordmates the planes xy, xz and yz divide the space con-
: _~sﬁu‘ed mio exg‘ht gompaerents—four above the plane xy, viz,
Oxyz, -xyz O-xyz, O-x'yz ; and four below it, viz. Ox_yz
O-xv's', O-2'y's', O-x'yz’. By an easy extension of the rule of
signs laid down in Plane Coordinate Geometry, we regard all x’s
on the right of the plane yz as + and on the left of yz as — ; all 4’s
in [ront of the plane xz as + and those behind it as — ; all 2’s above
the plane xy as + and those below itas —. We can then write the
points whose distances from the coordinate planes are @, 4 and ¢ in
the eight different angles thus :

In the first Octant, O-xyz P, is (a, &, c)
In the second Octant, P, is (e, — b, ¢)
In the third Octant, P, is (—a, —b0)
In the fourth Octant, P, is (—a,b,0)
In the fifth Octant, P; is (a, b, —¢)
In the sixth Octant, P;is (a, — &, —¢)

In the seventh Octant, P;is (—a, — 4, —¢)
In the eighth Octant, Py is (—a, 8 — o).

The signs thus tell us in which compartment the point falls,
and the lengths of a, 4 and ¢ give us its position in these compart-
ments, :

1. Construct the points 1, — 2, 3; 0,—1,2; 0,0, 1; —4,0, 3.
2. Construct the points 1,—3,—4 ; 2,—3,0; 3,0,—1; 2,0,0.

5. The points M, N and R are called the projections of P on the
three coordinate planes, and when the axes are rectangular they are
its orthogonal projections. We will treat mainly of orthogonal pro-
jections, For shortness’ sake when we speak simply of projections,
we are to be understood to mean orthogonal projections, unless we
state the contrary. :

We will give now some other properties of orthogonal projections
which will be of use to us.
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6 DeEFINITIONS.

The projection of a line on a plane is the line containing the
projections of its points on the plane.

When one line or several lines connected together enclose a plane
area, the area enclosed by the projection of the lines is called the
projection of the first area.

The idea of projection may be in the case of the straight line thus
extended: if from the extremities of any limited straight line we draw
perpendiculars to a second line, the portion of the latter intercepted
between the feet of the perpendiculars is called the projection of the
limited line on the second line.

From this we see that OA, OB and OC (coordinates rectangular)
are the projections of OP on the three axes, or ke reclangular coord:-
nates of a point are the projections of ils dislance from the arzgm on the
coordinate axes.

7. FuNDAMENTAL THEOREMS.

L The length of the projection of a finite right line on any plane is
equal to the line multiplied by the cosine of the angle which il makes with
the plane.

Let PQ be the given finite straight line, +Qp the plane of pro-
jection ; draw PM, QN perpendicular to it; then MN is the projec-
tion of PQ on the plane. Now the angle made by PQ with the plane
is the angle made by PQ with MN. Through Q draw QR parallel
to MN meeting PM in R, then QR = MN, and the angle PQR
= the angle made by PQ with MN. Now MN = QR = PQ cos
PQR. (Fig. 2.)

1L. The projection on any plane of any bounded plane area is equal to
that area multiplied by the cosine of the angle between the planes.

o

1°. We shall begin with a triangle of which one side BC is parallel

to the plane of projection. The area of ABC:% BC x AD, and the

area of the projection A'B'C' = —:~ B'C'xA'D. But B'C' = BC and
A'D'= AD ccs ADM. Moreover ADM = the angle between the
planes. Hence A'B'C=ABC x cos angle between the planes. (Fig. 3.)

2° Next take a triangle ABC of which no one of the sides is pa-

rallel to the plane of projection. (Fig. 4.)
1*
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Through the corner C of the triangle draw CD parallel to the
plane of projection meeting ABin D. Now if we call 6 the angle
between the planes, then from 1° A'C'D’ = ACD cos 6 and B'C'D’
=BCD cos 6. .. AB'D'—B'C'D'=(ABD — BCD) cos 8 or A'B'C’
= ABC cos 6.

3° Since every polygon may be divided up into a number of
triangles of each of which the proposition is true—it is true also of
the polygon, i e., of the sum of the triangles.

Also by the theory of limits, curvilinear areas being the limits of
polygonal areas, the proposition is also true of these.

8. The projection of a fimite right! line upon another right line is
equal to the first line multiplied by the cosine of the angle between the
lines.

Let PQ be the given line and MN its projection on the line Ox, by
means of the perpendiculars PM and QN. Through Q draw QR
parallel to MN and equal to it. Then PQR is the angle made by
PQ with Ox, and MN = QR = PQ cos PQR. (Fig. 5.)

9. If there be three points P, P', P” joined by the right lines PP,
PP” and P'P", the projections of PP” on any line will be equal to
the sum of the projections of PP’ and P'P” on that line. ILet D, D/,
D" be the projections of ‘the points P, P, P” on the line AB.
Then D’ will either lie between D and D" or D" between D and
D’. In the one case DD” = DD’ + D'D” and in the other DD"=
DD’ — DD’ = in both cases the algebraic sum of DD’ and D'D".
The projection is + or — according as the cosine of the angle above
is + or —,

In general if there be any number of points P, P, P”, etc., the pro-
jection of PP"” on any line is equal to the sum of the projections of
PP, P'P”, etc., or, the projection of any one side of a closed po-
lygonal line on a straight line is equal to the sum of the projections
of the other sides on that line.

10. UseruL PARTICULAR CASE.

The projection of the radius wvector OP of a point P on any line is
equal the sum of the projections on that line of the coordinates OM, MN,
NP of the point P. For OMNP is a closed broken line, and
the projection of the side OP on a straight line must be equal to
the sum of the projections of the sides OM, MN, and NP on that
line,
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11. DisTancE BETWEEN Two PoinTs.
Let P and Q, whose rectangular coordinates are (x, y, z) and (x,

¥, 2'), be the two points. (Fig. 6.)

We have from the right parallelopipedon PMNRQ of which PQ
is the diagonal, PQ? = PM?+ MN?+ QN2 But PM = x'— x, MN
=y —y; NQ=2"—z

Hence PQ? = (x — ')+ (¥ —')*+ (2 — &')%

If one of the points P be at the origin then x =0, y =0, 2=0,
and PQ* = x"*+ y*+ 2"

12. To FIND THE RELATIONS BETWEEN THE COSINES OF THE ANGLES

WHICH A STRAIGHT LINE MAKES WITH THREE RECTANGULAR
AxEs.

Take the line OP through the origin. Let OP = #, the angle
POx = a, POy = g, POz = y, and &/, 5/, 2’ the coordinates of P,
Then by Art. 11, P =a" 4y 4 2"

But, Art. 8, a'=rcosa; y =rcos B; z'=rcosy.

Hence r* = r* (cos® a + cos® B 4- cos’ ) or

cos® @ + cos’ § + cos’ y =1. (1) A veryim-
portant relation.

Cos a, cos @, cos y determine the direction of the line in rectan-
gular coordinates, and are hence called the direction cosines of the line.
We usually cali these cosines /, 7 and 7 respectively. So the equa-
tion (1) is usually written 4 m*+#x* = 1, (1), and when we wish to
speak of a line with reference to its direction, we may call it the line
(4, m, n). Only two of the angles &, §, ¥ can be assumed at pleas-
ure, for the third, y, will be given by the equation

cos ¥y = +4/1 — cos® @ — cos’ S.

13. We can use these direction cosines also for determining the
position of any plane area with reference to three rectangular coordi-
nate planes.  For since any two planes make with each other the
same angle which is made by two lines perpendicular to them respec-
tively, the angles made by a plane with the rectangular coordinate
planes are the angles made by a perpendicular to the plane with the
coordinate axes respectively. Thus if OP be the perpendicular to a
plane, the angle made by the plane with the plane xy is the angle y ;
with a2 is the angle #; and with yz is the angle @. So cos a, cos
B, cos y, are called also the direction cosines of a plane, That is, Z%e
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direction costnes of a plane with reference lo reclangular coordinales are
the direction cosines of a line perpendicular lo this plane.

14. The relation cos® @ + cos® §+ cos® ¥ = 1 enables us to prove
an important property of the orthogonal projections of plane areas.
For let A be any plane area, and A,, A, A, its projections on the
coordinate planes gz, zx and xy respectively. Then Art. 7, IL., A,
= Acosa; A,=Acos 8; A,= Acos y.

Squaring and adding we have

A+ A+ A=A’ (cos® @ + cos® B + cos® y)
or A+ A2+ A=A
That vs, the square of any plane area is equal lo the sum of the squares
of s projections on three planes al right angles fo eack other.

15. To Fixp THE COSINE OF THE ANGLES BETWEEN Two LINEs IN
TerMs oF THEIR DirecTION COSINES (coS &, cos 3, cos y)
axD (cos a', cos f3', cos y').

Draw OP, OQ through the origin parallel respectively to the given
lines. They will have the same direction cosines as the given lines,
and the angle POQ will be the angle between the given lines. (Fig. 7.)

Let POQ = 6, OP = r, OQ = 7/, coordinates of P(x,y, z), coor-
dinates of Q (xy’z").

Now by Art. 11,

PQ = (v — ) (5 —y) o (5= 8 = ) 8
+ 20— (2xx’ + 299" + 222').
And from triangle POQ,
PQ? = 7* + r'* — 277’ cos 6,

; 9 7
hence 74 72— 277" cos 8 = &' + y*+ 22+ x° + %+ 2" — (2ax
y

+ 29y +222").
But 7= 2+ *+ 22 and 7= 2"+ y° 4 2"
Therefore 77’ cos B = aa’+ py'+ 22,
.,‘l ! z ’
or cos 0=—jf.—x—,+—}i.l,+-—.—z—,.
AR A

!
Hence cos § = cos a cos & + cos fcos 8’ + cos ycos ¥’ (1)

which we write cos 0 =1+ mm' + nn'. (2)
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Cor. 1. If the lines areiperpendicular to each other cos § = o or
U+ mm'+ nn' =0 (3). (3) is calied the condition of perpendicu-
larity of the two lines (4, m, »), (/, m', ').

Cor. 2. From expression for cos § we find a convenient one
for sin® 6.

Thus sin?@ =1 — (¥'+ mm'+ nn')’ = (P + m*+ n*) (I*+m"

+ n?) — (U'+ mm' + nn')?
whence  sin®*0 = (im' — I'm)*+ (I"— I'n)*+ (mn' — m'n)’.  (4)

16. To express the distance between two points in terms of their
oblique coordinates.

Let P (ayz) and Q (a'y'2") be the two points. (Fig. 8.)

The parallelopipedon MPQN is oblique. Let the angle xOy
= A, 20z = p, yOz = v, and the angles made by PQ with the
axes respectively @, 8 and y. Project the broken line PMNQ on
PQ. This projection is equal to FQ itself. Hence we will have

PQ = PM cos & + MN cos £ + NQ cos . (a)

Now project the broken line PMNQ on the axes xyz respectively.
We obtain thus the three equations

PQ cos = PM cosA + MN + NQ cos »

PQ cos @ = PM + MN cos A + NQ cos u
@
PQ cos y = PM cos s + MN cos v + NQ ;

Now multiply the first of equations (¢) by PM, the second by MN
and the third by NQ and add them taking (a) into account and we
have

PQ?* = PM® + MN?+ NQ®*+ 2PM . MN cos A + 2PM.NQ cos
p#+ 2MN.NQcos v (c)

I = £ ) =) G =)+ — 2) (=)
cosA + 2(x— &'} (z — z") cos p+2(y—y)(s—5") cos v. (5)

Cor. If one of the points as Q be at the origin then
PO’ = a’+ )* + 2° + 2xy cos A+ 2x3 cos u + 23y cos v, (6)

17. Direction Ratios. In oblique coordinates the position ofa line
PM . MN NQ
PQ ) PQ E] ’?’Q—')

call direction ratios, We may name these /, m, » respectively,

PQ is determined by the ratios and these we
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taking care to note that we are using oblique coordinates and call
the line PQ, the line (/, m, ). To find a relation among these
direction ratios, we divide equation (¢) Art. 16, by PQ>. We thus
have

1 =2+ m*+n*+ 2/m cos A + 2/n cos p + 2mn cos v, (7) the
desired relation.

18. The coordinates of the point (ayz) dividing in the ratio 7 : »
the distances between the two points (x'y's") (2'y"'2") are

mx'" + na’ my" + ny' mz' + ng'

m 4+ n i m + n 2 e m+n (8)

The proof of this is precisely the same as that for the correspond-
ing theorem in Plane Coordinate Geometry.

19. Porar CoORDINATES.

The position of a point in space is also sometimes expressed by
the following polar coordinates:

The radius vector OP = 7, the angle POz = @ which the radius
vector makes with a fixed axis Oz, and the angle COx = ¢ which the
projection OC of the radius vector on a p'ane yOx perpendicular to
Oz makes with the fixed line Ox in that plane. (Fig. 9.)

We have OC = rsin §. Hence the formule for transforming from
rectangular to these polar coordinates are

A = 7 sin f cos @
v =rsin fsin @ > (9)

2 =7 cos #
and these give r=at 2
JY
tan = =
A (10).
2 2
cos = —=—————
R e

Conceive a sphere described from the centre O, with a radius = «
and let this represent the earth. Then, if the plane zOx be the
plane of the first meridian and the axis of z the axis of the earth,

71' ! :
# = ——— latitude, @ = longitude of a point on the earth’s sur-
2 .

face.
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20. Distance between two points in space in polar coordinates.
Let P be (7, 0, @) and Q (r, §, ). Project PQ on the plane .y,
MN is this projection, draw OM and ON the projections of OP and
OQ respectively on that plane. Through P draw PR parallel to MN,
then PR = MN. (Fig. 10.)
And we have
PQ? = PR? + RQ* = MN? + (QN — RN)2
But in triangle MON
MN? = OM*+ ON*— 20M. ON cos MON,
or MN? =7"sin® § + 7* sin® 8 — 277" sin 6 sin 6 cos (@ — @').
Moreover QN = 7 cos # and RN = PM = 7' cos #'.
Hence PQ’= #"sin®#'+7°sin® § — 27+ sin 6 sin 0’ cos (p— @)
+ (r cos 8 — 7' cos 0')*
or

PQ*= 7?4 r*—2r7" (cos 6 cos &' +sin O sin 6’ cos (p — @’)). (11)



CHAPTER II.

INTERPREFTATION OF EQUATIONS.

TRIPLANAR COORDINATES.

21. LET us take F (, 3, 2) = o, that is any single equation con-
taining three variables &, y and z. This may be considered as a
relation which enables us to determine any one of the variables when
the other two are given, Let these be & and y. So the equation
may be written

z2=/(% ),

in which we may attribute arbitrary and independent values to x and
». And to every pair of such values there is a determinate point in the
plane xy ; and if through each of these points we draw a line parallel
to the axis of z, and take on it lengths equal to the values of z given
by the equation, it is clear that in this way we will get a series of
points the locus of which is a sur/face, and not a solid since we take
deferminate lengths on each of the lines drawn parallel to 2. Hence
F (x, », 2) = o represents a surface in triplanar coordinates.

22. If the equation contains only two vanables as F (x, ¥)= o then
it represents a cylindrical surface.

For F (x, y) = o is satisfied by certain values of x and y inde-
pendently of 2, and & and y are no longer arbitrary but one is given
in terms of the other ; to each pair of values corresponds a point in
the plane xy, and the locus of these points is a curve in that plane.
If through each point in this curve we draw a coordinate parallel to
2, every point in that coordinate has the same coordinates x and y as
the point in which it meets the plane wy. Hence F (x, y) = o repre-
sents a surface which is the locus of straight lines drawn through

points of the curve F(x, ) = o in the plane xy and parallel to the
12
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axis of 2. This locus is either what is called a cylindrical surface
with axis parallel to z or a plane parallel to the axis of z according
as the equation F (x, #) = o in the plane xy represents a curve or a
straight line.

For example, a* + ) — 7*=o0 in rectangular coordinates is a
right cylinder with circular base in plane ay (since a’+1*=7"isa
circle in plane xy) and its axis coincident with the axis of 2.

And ax + by — ¢ = o is a plane parallel to the axis of 2, intersect-
ing the plane &y in the line ax + &y = ¢.

Similarly ¥ (&, 2) = o represents either a cylindrical surface with
axis parallel to y or a plane parallel to .

F (, 2) = o represents eithera cylindrical surface with axis parallel
to the axis of & or a plane parallel to this axis.

23. An equation containing a single variable represents a plane or
planes parallel to one of the coordinate planes.

Thus x = a represents a plane parallel to the plane yz.

And as_f£(x) = o when solved will give a determinate number of
values of &, as x =@, ¥ = ¢, x =¢, etc, so it represents several
planes parallel to the coordinate plane yz.

Thus also F (y) = o represents a number of planes parallel to the
plane xz.

And F (2) = 0, a number of planes parallel to xy.

24. Thus we see that in all cases when a single equation is inter-
preted it represents a surface of some kind or other.

The apparent exceptions to this are those single equations which
from their nature can only be satisfied when several equations which
must exist simultaneously are satisfied. As for example

(* —a)? + (y— 8 + (2 —c)*=o0. This equaiion can only be
satisfied when (x —a)* =0, (y —68)'=o0, (z—¢)) =0, or x=gq,
YW= lbngi=.

Now these represent three planes, but being simultaneous they
represent the point a, 4, c.

So also (x — a)*+ (y — 8)? = ois only satisfied by x =@, y =4,
and hence though x = e is a plane, and y = & is a plane, the two
together must represent a line common to both of these planes, that
is their line of intersection, which must be parallel to z.

25. In general two simultaneous equations as

f(x,_}/, Z) =0 F(x,)/, z) =0
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represent a curve or curves, the intersections of the two surfaces
represented by the two equations,

d=ia : :
Thusy 2 } taken simultaneously we have seen represent a straight

Jine parallel to the axis of z, the intersection of these two planes.
() —=ta
F(y) =0

axis of 2, the intersections of the several planes parallel respectively to

the planes 3z and az.
W () =6
(A=l
of y, eic.
Elm=e
e o) = 0} i
ders F(x, ) =oand F (%, 2) = o, ec., etc.

}represent a number of straight lines parallel to the

} represent a number of straight lines parallel to the axis

present the curves of intersection of the two cylin-

26. Three simultaneous equations

F(x » 2)=0 F(x,y) =0
asa VA=l or F(a,2) =0 etc.,
P, 2) =10 15 ) =)

represent points in space or the intersections of the lines of intersec-
tion of the surfaces.
The simplest case is,

xX=a
Y = 0 ) representing the point (e, 4, c).
Za=le
So also
a4 9t = 220 {
X +¥ = 2%  represent points which can be found by

T4
solving the three equations which themselves represent different sur-
faces.

Interpretation of Polar Lquations,

27. 1° r = a represents a sphere having the pole for its centre.
Hence the equation F (r) = o which gives values for 7 as r =g,
r = b, r = ¢, etc., represents a series of concentric spheres about the
pole as centre.
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2° 6 = a represents a cone of revolution about the axis of z with
its vertex at the origin of which the vertical angle is equal to 2a.
Hence the equation F (6) = o giving values 0 = a, 6 = g, etc.,
represents a series of cones about the axis of z having the origin for
a common vertex,

3% @ = f3 represents a plane containing the axis of z whose line
of intersection with the plane xy makes an angle g8 with the axis of
x. Hence the equation F (@) = o which gives values ¢ = 3, @
= f3/, etc., represents several planes containing the axis of z inclined
to the plane z0x at angles f3, £, etc.

4°. If the equation involve only r and 6 as F (r, ) = o, since
F (r, ) = o gives the same relation between 7 and ¢ for any value
of @, it gives the sume curve in any one of the planes determined by
assigning values to @. Hence it represents a surface of revolution
traced by this curve revolving about the axis of z.

Example. 7 =a cos @ is the equation of a circle in the plane
&z, or in any plane containing the axis of z. Hence 7 = a cos 6
represen’'s a sphere described by revolving this circle about the axis
of z.

5° If the equation be F (@, #) = o for every value of ¢ there
are one or more values of & corresponding to which lines through
the po'e may be drawn, and as ¢ changes or the plane fixed by it
containing Oz revolves, these lines take new positions in each
new position of the plane, and thus generate conical surfaces
(a conical surface being any surface generated by a straight line
moving in any manner about a fixed straight line which it inter-
sects. )

6°. If the equation be F (r, @) = o, for every value of @ there are
one or more values of 7, thus giving several concentric circles about
the pole in the plane determined by the assigned value of @. As @
changes, or the plane through Oz revolves these values of » change.
and the concentric circles vary in magnitude. The eqnation thus
represents a surface generated by circles having their centres at the
pole, which vary in magnitude as their planes revolve about the axis
of z which they all contain. '

7°. If the equation be F (7, 6, @) = o, it represents a surface in
general. For if we assign a value to @ as @ = f3, then F (7, 6, )
= o will represent a curve in the plane @ = . And as @ changes
or the plane revolves about Oz this curve changes, and the equation
will represent the surface containing all these curves.
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28. Two simultaneous equations in polar coordinates represent a
line, or lines—the intersections of two surfaces. And three simulta-
neous equations represent a point or points—the intersections of three

surfaces.
Thus
a=a
0 = a  taken simultaneously represent points determined
P

by the intersection of a sphere, cone and plane.



CHAPTER III
EQUATION OF A PLANE.

COORDINATES OBLIQUE OR RECTANGULAR.

29. 70 find equation of a plane in terms of the perpendicular from the
origin and ils direction cosines.

Let OD = p be the perpendicular from the origin on the plane,
and let it make with the axes Ox, Oy and Oz the angles @, 8 and y
respectively. Let OP be the radius vector of any point P of the
plane ; OM, MN and NP the coordinates of P. (Fig. 11.)

The projection of OM + MN + NP on OD is equal to the pro-
jection of OP on OD.

The projection of OP on OD is OD itself, and the projection of
OM + MN + NP on OD is & cos @ +y cos # + 2 cos y.

Hence we have xcosa +ycos B+ scosy =p. (12)

30. 70 find the equation of a plane in lerms of tls intercepls on the
coordinale axes (coordinates oblique or rectangular).
Let the intercepts be OA =a, OB =14, OC = The equation
(12) may be written
x v T D
pseca +psec/;f+ psecy %

But since ODA, ODB and ODC are ﬁght-angled triangles, we have
pseca=0A=gq, psec =0B=2¢ psecy =0C=vc
Therefore the equation becomes
£

X 2
A il o

the equation of the plane in terms of its intercepts.
*
5 ;
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31. Any equation Ax + By + Cz = D (14) of the first degree in x,
y and z is the equation of a plane.

For we may write (14)

&) g\
S-S
ﬂ

o o > o) =

1D
And putting —= gq, = 5, %—: ¢, we have the form (13).

A
Hence (14) is the equation of a plane in oblique or rectangular
coordinates.

Hence to find the intercepts of a plane given by its equation on
the coordinate axes, we either put it in the form (13) or simply
make y = o0 and z = o to find intercept on x; z =oand x = 0 to
find intercept on y ; ¥ = o and y = o to find intercept on z.

"Example. Find the intercepts of the plane zx 4 3y — 55 = 6o.

32. It is useful often to reduce the equation Ax + By + Cz = D
to the form x cos a + y cos § + z cos ¥ = p in rectangular coordi-
nates, We derive a rule for this.

Since both of these equations are to represent the same plane, we
have

cosa_cosf8_cosy p__4/cos® a + cos® f5 + cos’ y

A L Riuii €% uD s o/® aiie + D O

1
R
A B

D eme e et el S e — — g
Hence cos a NS NG cos f3 VAL B 1O
C D

ST — = 5 2 =

VAT B+ C VA B+ C

Hence if we write (14)

A B G
e P moae ey + a0
«/A’+B’+(;’x+x/A’+B’+C’y VAT + B+ C
D

v rwr (15)

it is in the perpendicular form (12).
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Hence the Rule: ZF we divide eack term of the equation Ax+ By
+Cz=D, by the square root of the sum of the squares of the coefficients
of x, y and z, the new coefficients will be the direction cosines of the per-
pendicular to the plane from the origin, and the absolute lerm will be the
length of this perpendicular.  Give the radical the sign of D.

Example. Find the direction cosines of the plane 2x 4 3y — 42
= 6 and the length of the perpendicular from the origin.

Result.
il S e o __,cosﬂ_

Vi+9+16 429 v 29

=3 cos y = 4
Vv 29
A
v 29
33. 20 find the angle between fwo planes (coordinates rectangu-

lar).
If the planes are in the form

Ld

xcosa+ycos 3+zcosy=p
xcos a' +ycos B + zcos Yy =P,
then since this angle is equal to the angle of two perpendiculars from
origin on the planes the cosine will be (Art. 15) cos V= cos a cos &’
+ cos f3 cos 8’ + cos y cos ¥,
If they are in the form
Ax + By +Cz=D
Ax + By + Cz=D"

A B
Thencos g =—->—cs f=—
V/A+ Bt 4+ C* VAL B
cos y=- j__;
’\/A2 + B+ (2
cos a’=__,A—_,¢_f cos fl = B
VA4 BT4C? VA" ¥ By CY
cos y'= f

VATE B T O
AA' + BB’ 4+ CC’
2 3 2 2 2 72 (16)
VA + B+ CW/A? + B £ C

And cos V=
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From this
(A+ B+ C?) (A”+ B”+ C*) —(AA'+ BB'+ CC')?
(A’+ B* + C*) (A" + B*+ C7?)
(AB'— A'B)’+ (AC'— A'C)*+ (BC'— B'C)?
(A9+ B2+C)) (A’2+ B’?_'_ C’?) = (17)

BingaVi=—"

cLosin?V =

Cor. 1. If the planes are perpendicular to each other, then cos V=o.
.. AA'+ BB'+ CC' =0 (18) s the condition of perpendicularily of the
Pplanes.

Cor. 2. If the planes are parallel sin V=o0. Hence

(AB’ — A’B)* + (AC' — A’C)® + (BC' — B'C)* =0

or AB —A'B=0 AC'—AC=o0 BC'—BC=o0
A B C
or T=F=CO (19)

or the condition that the two planes shall be parallel, is that the coefficients
of X, y and z in the two equations shall be proportional.

Ex. 1. Find the angle between the planes
x + 2y + 382 = 5and 3x — 4y + z = IO.
2. Show that the planes

x + 3y — sz=20and 2x 4+ y + z = 10 are perpen-
dicular to each other.

3. Write the equation representing planes parallel to the plane 3x
+ 2y — 63 = 11,

34. 70 find the expression_for the distance from a poin! P (x'y'z) o a
plane (coordinates rectangular).

1°. Let the equation of the plane be of the form

x cos & + y cos B + zcos y = p when p = OD.

Pass a plane through P parallel to the given plane, and produce
OD to meet it in D"
The equation of this plane will be

x' cos a 4y cos B + &' cos y = ' when OD' = 2.

Now let PM be the perpendicular from P on the given plane.
Then PM = OD' — OD =p' — 2.
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Hence PM = &' cos @ + ' cos 8 + &' cos y — p.

And + (2’ cos @ + ' cos 8 + 2’ cos y — p) (20) is the expression
for the perpendicular from the point x'y’z" on the plane x cos & + y
cos  + 2z cos ¥ = p, the sign being + or — according as P is or is
not on the side of the plane remote from the origin.

2° Let the plane be in the form Ax 4+ By + Cz = D.

A :
Then cos « =——————— etc., etc. (15) Art. 32.
'\/A2+B7+ 2 ? ( S) 3
Hence the expression
+ (%' cos @ + ' cos B + 7' cos ¥ — p) becomes
Ax'+ By'+ Cs'— D )
= e (2 I)
,\/AQ_I_BQ_’_ C?

Ex. Find the length of perpendicular from the point (3, 2, 1) on

the plane

Gid

3% + 4y — 63 = 24.

_9+8—6—24_—13
V9 + 16+ 36 261

3'5. The equation of the plane in the form xcos @ + y cos B + 2
cos y = p may be used to demonstrate the following theorem in
projec.ions.

The volume of the tetrahedron which has the origin for its vertex and
the triangle ABC for ifs base is equal lo the three pyramids which have any
point (X, y, z) in the plane ABC for ther common vertex and jfor bases
the projections of the area ABC on the thres rectangular coordinale planes
respectively.

For let A be the area of the triangle ABC and

Result, P

xcosa +ycos B+ zcosy=p
the equation of its plane.
Multiply this equation by A.

Then . Acosa.x 4+ Acos B.y+ Acosy.z=Ap
or FAcos . x + A cos B.y + A cos .z = LAA

But A cos a, A cos 8, A cos y, are the projections of A on the
planes yz, x2, and xy respectively, and x, y and z are the altitudes of
the tetrahedrons which have these projections as bases and the point
(, », 2) as common vertex, and $Ap is the volume V of the pyramid
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which has the origin for vertex and A for base. Hence the theorem
is true.

Calling these projections A,, A,, and A,, we may write the equa-
tion of the plane A.x + Ay + Az =3V. (22)

36. 70 find the polar equation of a plane.

Let OP=r, POS = 6, PPOM = ¢ be the polar coord:nates of a
point P of the plane. (Fig. 12.)

Let OD = a = perpendicular on plane ; angle DOS = a«, D'OM
= g, and POD = w.

oD a =

Then op = °os POD = cos @, or — = €S @ Now in order to
express @ in polar coordinates conceive a sphere about O as centre
with OP = r as radius. Prolong OD to D"’ on the sphere. Draw
the arcs of great circles SPP', SD"D’, MP'D’ and D"'P.

The triangle SD"’P has for its sides SD” = a, SP=0, D'P = w
and angle D"SP = DOP'= g8 — @. But

cos D"P = cos SD"’ cos SP + sin SD” sin SP cos D"SP.
Or

€os @ = cos a cos # + sin asin 6 cos (f— @).

Therefore [—;— = cos a cos 0 + sin a sin 6 cos (B — @) (23) is the

polar equation of the plane,

37. The general equation of the plane Ax + By + Cz = D may
be reduced to the form

A'x + By + C'z=1 (24) by dividing by the absolute term D.

And also to the form ¢

2 = mx + ny+ ¢ (25) by dividing by C — transposing and putting
—% =77 —g =z and % = ¢. These two forms are very useful in
the solution of problems and in finding the equations of the plane
under given conditions.

Plane under Girven Condifions.

38. 1°. The equation of a plane through the origin will be of the
general form Ax + By + Cz = o, for the equation must be satisfied
by & =0, y= oand =10,

- 2°, The equation of a plane which contains the axis of z is of the
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form Ax + By = 0; a plane containing the axis of y is Aa + Cz
= 0; one containing the axis of x is By + Cz = o.

3°. The equation of a plane parallel to the axis of z is Ax + By
= D; of one parallel to the axis of y is Ax + Cz = D; one parallel
to the axis of xis By + Cz2 = D

4°. The equation of a plane parallel to the plane yz is Ax = D
parallel to xz is By = D ; parallel to xy is Cz = D.

These equations we have had already in the forms x=4a, y= 4,
z2==c

39. 70 find the equation of a plane containing a given poin! (a, b, c)
and parallel 1o a given plane Ax+By+Cz=D. (1)

First, since the required plane is to be parallel to (1) it may be writ-
ten Ax+ By+Cz=D' (2) when D’ is undetermined. Secondly, the
coordinates (&, 4, ¢) must satisfy (2). Therefore Aa+Bé+Cc=D'.
Hence by subtraction we eliminate D" and obtain

A(x —a)+ B(y—46)+C(zg—c)=o0 or
Ax + By + Cz= Aa + Bb + Cc  (26)
the required equation.

Example. Find the equation of the plane passing through the
point (1, 2, 4) parallel to the plane 2x + 4y — 32 = 6.

40. 70 find the egualzan of a plane passing l/zrouvﬁ three given poinls
(X y, ) (Y” 'I’ Z ) and (X’H’ y”” z//l

Let the equation of the plane be of the form Ax + By 4 Cz = 1,
A, Band C to0 be determined by the given conditions.

’

Since the plane is to contain each of the points, we must have
- AxX'+ By +C2' =1
Axll+ B_)/”+CZ” — 5
Axl// o B)/’” K CZH/_ T

Hence
' ! r
LY, s x, 1, 2 x5, 1
I _,V”, Z” xu, T Z” xl/ _J/”
e w e " //r 1y
Ly, x , 1,2 oy » Y
AP eoiteel o o0 s [BESsfaatint da. i 00,0 —
i ) A =) T rst] |
xX,V, 2 X, V,3 X,V 2 1
" " " Vi 1 " rr ar e !
X,V 3 XV, 2 XY 5 |
e ety 1ty e tr LIRS VTIR o IT?
x ,V ,Z x ,Y , 2 A NS |

Substituting these values in the equation Ax + By + Cz =1
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we have
7’ d. ’ / 1
Ly, s A - e 9,8
I },H o xll, I, Z,, xll’ .yll Jl”yll’ ZI’
II/
I y II x + xf/l, I, Z’II y + xrll’-ylll I z _xlll J}IH ; (27)

But from plane coordinate geometry the coeflicients of ¥, y and z
in these equations are the double areas of triangles in the planes yz,
xz and xy respectively. Moreover these triangles are the projections
of the triangle of the three given points, on these planes. Hence
comparing this equation with the equation (22)

Ax+ Ay +Az=3V

R
we see that [x”, »”, z” =6V, That is = 6 times the volume of the

III 1’ I

b

=

pyramid which has the origin for vertex and the triangle of the three
given points for base. This equation fully written out is

(yr/ nr__ /n lI)+xll(lezl _}/’Z’”) +x'”(}' 71 'V”Z’)—'6V (28)

41. T0 find the equalion of the planes whickh conlain the line of infersec-
tion of the two planes Ax + By+Cz = D and Ax’' + By'+ Cz' = D',

ThisequationisAx+ By +Cz~D+ K(A'x+ By + C'z—D")=0(29)
when K is arbitrary. TFor this represents a plane when K takes a
particular value and it is satisfied when Ax+By+Cz — D = o and
A’x + Bly + C'z2 — D’ = o are satisfied simultaneously. Hence it
is a plane containing their line of intersection. Hence as K is arbi-
trary it (24) represents the planes containing the line of intersection
of the two given planes.

42. When the identity KU +K,\U,+K,U, =0 (30) exists between
the equations U=o, U,=o0, U;= 0 of three planes, then these planes
intersec! each other tn one and lthe same straight Iine. This is an
easy corollary of Article 41. Also when the equation of the first
degree in x, y and z contains a single arbitrary constant all the
planes which it expresses by assigning particular values to this con-
stant intersect each other in one and the same straight line. This
line of intersection may be at infinity and then the planes are all
parallel.

Example 1. The planes represented by the equation 6x+ My4- 23
= 3 (M arbitrary) all contain the line of intersection of the two
planes 6x+22 — 3 = oand y = o.
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Example 2. The planes represented by 20 + 3y —4z2=1n (2
arbitrary) are parallel.

X+ 2y+32=1

Example. The planes 3x + 4y + 62 =2 }
4x + 4y + 62 =2

intersect in one and the same straight line because

(3x+4y+6z—2)—(x+2y+32 — 1) — J4x+ay+063—2) =0
is an identity.

43. When between the equations of four planes in any form U=o0, U,
= o, U, = o, U; = 0 the identity

RU+K U+ KU, +K,U, =0 (31) exists, then these four planes
inlersect each other in onme and the sam: point. For then any coor-
dinates which satisfy the first three U = o, U; = 0 and U, = o will
satisfy the fourth U, = o.

44. Example 1. Find the equation of the plane passing through
the origin and containing the line of intersection of the two planes
Ax +By+Cz=1and A'x + By + C'z = 1.

First we have Ax + By + Cz — 1 + K(A'v+ By + Cz—1)=0
for all the planes containing the line of intersection of the two given
planes. But as the required plane must contain the origin, the
equation must be satisfied by (o, o, 0). Hence we have —1—K=o.
S K=—1

The required equation is therefore

Arx +By+Ca—1—(Ax+By+Cz—1)=0
or A-—A)r» + (B—B)y+ (C—C)z=o0.

Ex. 2. On the three axes of x, y and z take OA = a, OB =4,
OC = ¢ and construct on these a parallelopipedon having MP as the
edge opposite parallel to OC, and AR in the plane xz the edge
opposite and parallel to BN.

Find the equation to the plane containing the three points M, N
and R.

. . . . X
Now NR is the line of intersection of the two planes ¥ -{--Ji =1 and

b
z A e
—=1 Hence the plane containing this line must be of the form

3
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5 +% IR <—— —-I> =o0. To determine K we impose the
condition that this plane shall pass through the po'nt M (a, 4, o).
Hence we have = 4 T 1+K (i 1 ): O .= ARE=]
a 6 ¢
Therefore the required plane is
AN oy

d-—.—;—1+--—1_—_oor +6 +—

Ex. 3. Find in like manner the equation of the plane containing
the points P, B, and C, in the same figure.
S Lt

Result, e ———=1.
D i 1

45. If two given planes be in the normal form as
X cos a+y cos f+z cos y=p and x cos a’+y cos ff'+zcos y'=p.
The plane containing their line of intersection is

acos a+ycos B+zcos y — p+K (¥ cos a'+y cos ' +z cos p’
!

And if K =4 1 the equation becomes e

X cos a+y cos B+3cos y — p+(x cos a'+ y cos ' +2 cos y'

o C
which represents the two plane bisectors of the supplementary angles
made by the given planes.

That is 7o find the cquations to the plane biseclors of the supplementary
angles made by two given planes, put their equalmm‘ in the normal form
and then add and subtract them.

Example. Find the two pilanes which bisect the supplementary
angles made by the planes 2x+3y +z = 5 and 3.v+4y—22 = 4.

»2xi3_y+z— 5 J 3xt+ay—2z— 4
Vg V29

Remark. 1If we place A = a cos w4+ yces B 4 2 cos y — p and
A'=xcos a’'+ ycos 8+ zcos y —p.

Then A'— A = o is the plane bisector of one of the angles be-
tween the planes A and A’ and A + A’ = o is that of the supple-
mentary angle.

46. The three planes which bisect the diedral angles of a triedral have
a common line of intersection. Let A=o, A’= oand A" = o be three

Result,
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planes in the normal form, and let the origin be within the triedralangle
formed by the three of which P their point of intersection is the vertex.

Then the plane bisectors of the angles made by these planes is
A—A' =0, A'—A =0, A'—A"=0. Andas these when added
together vanish simultaneously, it follows that these three planes
have a2 common line of intersection.

We can give this theorem another form by conceiving a sphere to be
described about the vertex of the triangular pyramid as a centre. The
three planes A= o, A'’= o, A"”"=o0 cut the surface of the sphere in
arcs of great circles which form a spherical triangle and the three
planes A—A'=0, A”— A =oand A'— A” = o cut the sphere in
three arcs of great circles which bisect the angles of this spherical
triangle and their common line of intersection pierces the sphere in
the common intersection of these arcs. Hence the above demon-
strates the following theorem, namely, Z%e arcs of great circles which
bisect the angles of a spherical friangle cut each other n the same point
(the pole of the inscribed circle of the triangle).

47. 1o find the point of wntersection of the planes Ax + By + Cz
=D, Ax +By+Cz=D, A'x + B’y + C"2=D".

We have by elimination

D, B C At DE A, B, D
D/, B’, CI A/’ DI’ Cf Al, BI, DI
DU. BN, C'I A”, D!l) C” A/l, BII’ Dll

SR ph IS AT = (3z)
A, B C AT SBE© AVERBIRNGC
AVEIBE UG/ AL BEWET A, B, C
AII’ B”’ CII AH’ BVI’ CII AH’ B’I, CH \

Hence the condition that one of these shall be parallel to the line
of intersection of the other two, or that the planes shall not meet in
a point, is

A, B C

Al’ BI’ CI

A", B, C"| = o, that is

A(BC"—B"C")+ A(B"C — BC") + A”(BC' — B'C) =o.
47. The condition that four planes

Ax +By +Cz +D
A'x +By +Cz +D’
A"x +B"y +C'"z +D"
Amx+Bn‘ry+C/rlz+Dw

O
(@]
O
o]

]
Tshall meet in a point is
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B i
ASSIRESE * 1)
A”, B”, CH’ DH

A.‘l” BV”, CIH, DHV = O. (33)

49. We have seen that the equations of two planes Ax+ By +Cz
— D =o0and A’x+ B’y + C'z — D’'= o added together one or both
of them multiplied by any number give the equation of a plane
which contains the line of intersection of the two given planes. If
we combine these two equations so as to eliminate & we shall obtain
a plane parallel to the axis of «x, containing this line of intersection.
If we eliminate y we obtain a plane parallel to the axis of y contain-
ing the same line; and finally if we eliminate z we obtain a plane
parallel to the axis of z containing the same line,
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THE STRAIGHT LINE.

5o, The equations of any two planes taken simullancously represeri
thetr line of inlersection. '
ThusAx+By+Cz=D
A'z+By+Cs=D"{
ordinates of every point of which will satisfy the two equations.

If we eliminate alternately x and y between these equations we
obtain equations of the form

x=mz + p

y = nz hag
axes Oy and Ox which represent the same straight line as equations
(35)- These non-symmetrical forms (35) are very useful. The
planes x = mz+a, y = nz+6 are called the projecting planes of the
line on the planes of az and yz, and thess equations are also the
equations of the projections of the line on those planes respectively.
If we eliminate z we get I—9 . fc—_—‘tlor_y =2 oSl -

n m 7 m
tion of the projection of the line on the coordinate plane xy.

The equations (33) of the straight line contain four arbitrary con-
stants, 7, #, p, ¢, to which we can give proper significance by com-
paring these equations with the equation y = mx+4 in plane coor-
dinate geometry.

The equations (35) may be thrown in the form

(34) represent a straight line the co-

} (35) two planes parallel respectively to the

p the equa-

X=p_y—g_ 3
et

n
which gives us an easy choice of fixing the line by the equations
of any two of its projecting planes.

51. 70 find the equations of a straight line in ferms of ils direction cosines
and the coordinates a, b, c of a point on the line : (axcs rectangular.)

29
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Let «r, f3, ¥ be the angles made by the line with the coordinate axes
respectively. Let / be the portion of the line between any point
(., », 2) on the line and the point (g, 4, ¢). Then /cos & = a—a ;
lcos 8 =y—b; lcos y== z—c; and eliminating / we have

x—a y—b az—c
cosa ~ cosfi cosy

(37)

This form (37) of the equation of a straight line is symmetrical
and is therefore very useful. It contains six constants but in reality
only four independent constants, since the relation cos® a+cos® 8
+cos® ¥ = 1 holds, and of the three a, 4, ¢ one of them may be
assumed at will, leaving only two independent.

We have seen that the equation (35) may be thrown into the form
(37)- So also (37) may be thrown into the form (35) by finding
from them expressions for y and & in terms of z.

52. 70 find the direction cosines of any straight line given by ils equaltions.

If the equations be in the form
g R e A U K
PN S iy N
direction cosines of the line.

L, M and N are proportional to the

So that we have

cosa _cosf8 _cosy Afcos’a+cos? ff+ costy A

IS R R A LI+ ME+ N T A/L7+ M+ N7
Hence

= = ; cos 3= B Bt M a0

RV T e LRV v YU R APV s IS

(38)

Hence to find the direction cosines of any straight line

Ax+By+C2=D )
Ax+ By + Cz=D' }
we throw the equations inlo the form
Ff e bt
, IR (oA 1 TN
by eliminating 'y and x, and. then write out the direction cosines as above

equal to each denominator divided by the square roof of the sum of lhe
squares of all three.
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A D ¢ =1y
Thus to find the direction cosines of the line =
y=nz+yq
sy xr— y — 2
we write it e Vi 5
m n 1
Hence
m n 1 1
CS o =—"F—————— COs =" T —F———cos y= r———
0584 ,\/7”-1_‘_7124_I ’ ﬁ '\/ﬂll-{-n‘-i-l. ¥ 1/m’+n“+1

(39)
Ex. 1. Find the direction cosines of the lines

X — 3 SN2 24+ 1 X
= == I
et O F
y:zz+3} ] zx+3_y+6z:24()
x=32—1 (2) 3x—4y+23 =10 07

53. 70 find the cosine of the angle between lwo lines given by the equa-

lions

X—a y—b 2—c¢ x—a _y=b  z-—/(
T ) R T e R

We have shown (Art. 15)

cos V = cos a cos @'+ cos B cos f3'+ cos y cos y'.

LL' + MM’ 4NN’

Hence cos V= 3
AL+ M+ N2 4/L?4 M4 N

(40)

If the lines be in the form Sy A } T m’z+p, t
Y =nz+gq = =g |

’ ’ 1
Then A R il AN . (41)

N1+ 4t A 1+m? 4 n"?

Ex. 1. Find the cosine of the angle between the lines

NI () —N7
d
.;'=3Z—I% P .Jf=—z—2} )

Ex. 2. Find the cosine of the angle between the lines

x+2y+3z__5 a* —y+4z=1| y
RO T el 10

X—y—z
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These equations may be put in the forms

13 1 2 I
S D r—= p——
3 - SR e 2 2 ¥ 2z
TR SR, (1) and ———== 5 =& (2)
s Ty e S r

V26.4/38  A/26x38

54. The condition of perpendicularity of two lines given by the
equations in last article is LL’+ MM'+NN'=o0. (42)

The condition that they shall be parallel (see Art. 15)

is (LM'—L'M)*+(LN’—L'N)*+ (MN'—M'N)' =0
A T R

o Tr= 31 _N,—(43). These two conditions when the lines are in the

forms

x=mz+p x=mz+p
yv=nz+gqg y=n'z+q

become mm’ +nn'+1 =0, (44) and m =m', n = n' (45) respec-
tively.

55. 70 find the condition of the inlersection of fwo lines

x:mz+p} b x=m's+p |
Yy =n3+gq y=n's+¢ |.

This is derived by eliminating x, » and z from the four equations.
Subtracting the third from the first we have o =(m—m')s+p—p'.

BN 3= pl—p . Similarly from the second and fourth z = q'——g_ :
m'—m n'—n
and since the lines intersect these two values of z are equal. There-
p=t _ 9—¢

fore we have

2= 17T (46)

m' —m n'—n

S R ; x=2z+3} &= 33+1
Ex. Find ¢’ so that the lines g il

5 } shall in-
tersect.
If the two lines are in the form

x—a _y—b z—c x—a' _ y—4 __E_—__c_'
== O T=w =~ &
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the elimination of &, y and z can be effected more readily by writ-
ing (1) = K and (2) = K",
x_al e LrKI S a—a = L I{ —LK,
Similarly 6--8" = M'K'—MK
¢—c = N'K'—NK.

Vg RS }

Therefore eliminating K and K’ we have

L, —L', a—a
M, —M, 6—5
N, =N, ¢—| =o0

or G
(a—a')(NM'=MN') + (3—8") (LN’ —=L'N) + (c—¢')(L'M ~LM) = o,

(47)
The Straight Line under Grven Conditions.

56. The equations of a straight line parallel to one of the coordi-
nate planes as xy are g = ¢, y = mx+p.
The equations of a straight line parallel to one of the coordinate
X=a }
axes as z, are g
y=10
57. 70 find the equations of a siraight line passing through a given point. .
If (', #', 2") is the point
x—x' -y z—7
= (48)

we have seen the equation is e
EROpE PITY M N

or if the equations are in
X = —_—a = g
the form "0, then J', (s 4,)
y=n3+gq y—y = n(z—2)
equations of a straight line contain only two arbitrary constants, all

the lines obtained by assigning values to these arbitraries pass through
a single point.

} (49). Hence if the

58. 70 find the equations of a straight line passing through two given
points (x', y', 5') (&, ¥, 2"") using (48) we have
x’l—xl_ y”—-"’ =¥ z'l_
Tz it 2 Mt el N
3*

’
2 iy f S
, or dividing (48) by this to eliminate
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L, M, and N we have
! ’ !
x—x' _ y—y  z—z
;‘:I!_‘X,I— .}‘”""j’ = Z”—Z

ty® (SO)

If one of the points as (x”, 5", z”) be at the origin then the equa-
tions become

55 BVl o5
P G

59. 70 find the equation of a straight line passing through a given
point (&', y', 2') and parallel to a given straight line
X—a_ y—b sz—c¢

ST N

’ /7 ’
LS5 r—a - z—z
From the first condition we must have =t ny/ =

£ M N
and from the second condition TN

Hence the required equation is
f

x—x'__ yA¥ ieamal
PrPKIES " g e

If the equation passing through the point &/, 3/, 2’ be of the form

SAES AR

y=nz+q.

x—x' =m'(z—2')

vy e gy }, and the given line be

Then 7' = n and m' = m, and the line will be

—a' = m(z—2
RS )
y—y' = n(z—z').
60. 7o find the equations of a straight line passing through a given
point x', y', 5" and perpendicular lo and infersecting a given right line
sl = e

/ RS

The required line by the first condition will be of the form

L J’—J)’ A g—z'

L M N

where L, M, and N are to be determined by the conditions

L/4+Mm+Nn = o (Art. 54)
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and
(@—2")(Mr—Nm) +(6—y")(NI—Ln) 4 (¢ —2")(Lm— M/) =o(Art.553).

61. Ex. 1. Find the equation of the line joining the points (4, ¢, a)
and (a, ¢, 4) and show that it is perpendicular to the line joining the
origin and the point midway between these two points ; and that it

is also perpendicular to the lines x =y = z and —';—C—:%:z?

Ex. z. The straight lines which join the middle points of the
opposite sides of a tetrahedron all pass through one point.

Take O one of the vertices as origin and OA, OB, OC as the
axes.of x;, 9, 5 -

Let M, M’, M" be the middle points of BC, AC and OC respec-
tively, N, N, N” the middle points of the edges OA, OB and AB
opposite to those respectively. Then to find the equations of the
lines MN, M'N’, M"N".

We apply the equation f,:

= 'V,_"”,,, = 2_5’ to the points
Ay 52
(M, N) (M, N') (M", N"') respectively.
Let OA = 24 ; OB = 25; OC = 2.
Then M is (o, 4, ¢) and N is (a, o, o).
Hence the equation of MN is

x y—b =
—(l—:~—_T:— (2)
And the equation of M"'N" is
x ¥y g—c
T ) Trt (3)
: a b G :
(1) and (2) give x ==, 8= and these values satisfy (3).

Consequently these lines pass through the point <‘—:, ;b, f—).
2
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Straight Line and Plane.

62. 70 find the conditions that a line shall be perpendicular to a plane
given by ils equation.

If the plane be of the form & cos a-+y cos 42 cos y =p (1)
we know that cos «, cos 3, cos ¥ are the direction cosines of the
perpendicular from the origin on the plane.

And the equation of this perpendicular will be

gL o e,
cosa  cosf§ cosy’

If any plane Ax+By+4Cs = D be parallel to the plane (1) we must
have

A B S
cos a cos/j cosy
: . x—a_  y—b 3—c , .
and if the line - Rl et be parallel to the line

% 4 Z
———=———— we must have
cosa  cos f cosy

L M N
cosa cosff  cosy

Hence the conditions that the line ffizyT—Ib:z—N shall be

perpendicular to the plane Ax+ By +Cz = D will be

A B O
== (5%
If the line be in the form o i } wew ntelt» Vp:J;—Q_ =z :
y=mn3tg ? 4
i Jihe B C A =mC o
And the conditions are R O e } (55)

The equation of a line passing through the point &/, ¥/, 2’ and
perpendicular to the plane Ax+By+Cz = D will then be
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or in the unsymmetrical form

x—ax' = —é (z—2")

B
y—y' = c (z—3").

Ex. Find the equation of a line passing through the point (1, 2,
3) and perpendicular to the plane 3x+2y—4z = 5.

63. 70 find the condition that a straight line shall be parallel to a
given plane. Let the plane be Ax+By+Cz = D and the line of
x—a _y—b z—c
the form R | ik ik
Now if this line is parallel to the plane it will be perpendicular to
the normal to the plane. Hence the required condition will be

AL +BM + CN=o. (356)

64. 7o find the conditions thal a straight line shall concide wilk a given
plane Ax + By +Cz = D,
5 : xXx—a y—b z—c
1°. Let the line be of the form TS g Pec il il
The line must fulfil the condition (56) of parallelism above,
AL + BM + CN =o. And also any point on the line as (g, 4, c)
must satisfy the equation of the plane. Hence we must have the
additional condition Ae+Bé+Cc—D =o0. (57)
2° Let the equations of the line be of the form x =mz+»
: y=nz+q § . Sub-
stituting these values of & and yin the equation of the plane, we
have

A(mz+p)+B(nz+¢)+Cz = D,

Ap+Bg—D
Am+Bn + C
z must be indeterminate, and therefore Ap + Bg—D = o] (58)

Am+Bn+C=o}are the

whence z = — And for coincidence this value of

conditions of coincidence.

Note. This last method is a general one of determining the con-
ditions of coincidence of a straight line and any surface given by its
equation. That is substitute & and y of the line in the equation of
the surface and since the z in the resulting equation must be inde-

4
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terminate if there be coincidence we treat this equation as an iden-
tity and make the coefficients of the different powers of z separately
equal to zero. .

65. 70 find the expression for the length of the perpendicular PD from
any poz’nl P z’) on a straight linz AB given by is equation.

TG Sallem . SREC
4 ——— where ¢, &, c are the coordi-
cosa  cos /J' 03 ¥

nates of any point A on the line. Now PD*=PA*—AD* (Fig. 13.)
But PA* = (x'—a)’+ (¥'—6)" +(2'—c)® and AD being the projec-
tion of PA on AB, we have

. Let line be

AD = (a'—a) cos a+ (3 —b) cos S+ (z'—&) cos y.
Hence
PD'=(a"=a)" + (y'—8)* + (z' —¢)*— ((¢' —a) cos a+ (' —&) cos B

+(2'—=2) cos )’ (59)
2°, If the given line be of the form

xXx—a y—b z—c

A T T 1=7C
Then
A
cosa =—————  etc., etc.
VALB+C '
And therefore PD?
; 7 —a)A+ —4)B+(2'—¢)C)?
==+ (/= (¢ —op =m0
3° If the given line be x = mz+p}
y=n3+q
Then PD?
(x’ _P)z o (),'___ 7)? + " I—m(‘x _P) 1% ”(V —'9) A 2] (61)

m' + nt 1

66. 7o find the expression for the shortest distance between two straight
lines given by ther equations,

This shortest distance is a straight line AB perpendicular to both
the given lines PB and SR. (Fig. 14.)

Let the given equations

Fir &l gy Bl an & Yol £t6 and 6 = the
cosa  cos /J’ cos y cos a’ cos /3 v
angle between the lines.
And L, M, N the direction cosines of the perpendicular AB.
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Then we must have
Lcosaw+Mcos f+Ncosy =o
I cos @'+ M cos 3'+N cos ' = o.

——

Whence
5 M e
cos f§ cos y'—cos 3’ cos ¥y~ cos @’ cos y — cos a cos y'
N
" cos a cos i’ —cos «' cos 5
4/L?+ M?4- N*
=i 4 [(cos B cos ¥/ — cO8 B/ CuB )% 1 (COB a €O8 y/ — COS o’ CO8 y) 2 + (COS & cOs B/ —cosa’ CO8 B)?]

I
“ sin 6

(Art. 15).

Now let P be the point (a, 4, ¢) on the line PB and Q be the point
(@', &', ') on the line SR, Then as the projection of PQ on AB is
AB itself, we have

AB = (a—a')L+ (6—8")M + (e—=d)N =
(62)

(@~ a’)(cosBcosy’ —cosycosp’)+(b—b’)(cosa’ cosy —cosacosy’ (¢ —¢')(cosacosp’ —cosa’cosB)
o sin 6. '

If the given lines are expressed in other forms we can find cos «,
cos @, etc. from the given equations and substitute them in (62).

‘



CHAPTER V.

TRANSFORMATION OF COORDINATES.

67. 7o transform fo parallel axes through a new origin the coordi-
nates of whick referred lo the old axes are a, b, c.

Let OA = x, AN = y, NP = z be the coordinates of P referred to
the origin O and the axes Ox, Oy and Oz. Also let O’ be the new
origin, and OA' = a, A'N' = 4, N'O’' = ¢ be its coordinates and let
O'H = &/, HK =" and KP = 2’ be the coordinates of P referred to
O’ as origin and axes parallel to the original axes. (Fig. 15.)

Then v = OA = OA’ + A'A

or x=a+a l
Similarly v =54+ \(63)
and A=At

Substituting these values in the equation of a surface we obtain the
equation referred to the new origin and axes.

68. 70 pass from a rectangular system lo another system fhe origin
remaining the same,

Let Ox, Oy, Oz be the old axes at right angles to each other ; Ox,
O/, Oz’ the new axes inclined to each other at any angle. (Fig. 16.)

OM=ux, MN =y, NP=2
OM = of, MIN"= /s N'P = 5.

Now the projection of the broken line OM’+MN’+N'P on the
axis Ox is equal to the projection OM of the radius vector OP on
Ox. Let cos a, cos @', cos a” be the cosines of the angles which the
new axes make with the axis Ox ; then

x =x'cos @ + y cos &' + 2’ cos a”

40
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If cos f3, cos f3, cos 3" be the cosines of angles Wthh the new
axes make with the axis Qy, and cos y, cos y', cos y", the cosines
of the angles which they make with Oz, we shall have similar values
for y and z. Hence the three equations of transformation are

x = &' cos a@ + ¢ cos a’ + 2 cos &’
y =" cos B + ¥ cos ' + 2 cos B’ (64)
z =" cosy+ 4y cosy + 2 cosy'.

We have of course

cos* @ +cos* B +cos’y =
cos? @’ +cos? B’ +cos®
cos? a''+cos? §" +cos y"' =

(B)

]

For the angles A, u, » between the new axes of 3" and 2/, of " and
&', of &' and y' respectively we have

cos A = cos &' cos &'+ cos f3’ cos B +cos y' cos p”
cos p=cos a’cos @ + cos fcos B +cos y''cos y (©)
cos ¥ = cos & cos &' + cos f3 cos ' +cos y cos y.

69. 70 pass_from onz system of reclangular coordinates to another also
rectangular.

The formulz in this case are the same as those in the last with the
exception that since the new axes are also rectangular cos A=o0, cos u
= o, cos ¥ =0 and formule (C) give

cos a' cos a”’+ cos ' cos B+ cos ' cos y'=o0
cos &'’ cos a + cos f3'cos 3 +cos y''cos y =o (D)
cos & cos a’ + cos B cos 8’ +cos y cos y' =o.

Since between the nine quantities there are six equations of con-
ditions, (B) and (D) there are only three of the quantities, cos a,
cos 3, etc., independent.

7o. In changing from rectangular axes to rectangular, there is
another set of equations of condition among the quantities, cos a,
cos f3, etc., equivalent to the preceding which result from the fact
that the new axes are rectangular. For a, o, &' being the angles
made by the old axis of & with the new rectangular axes, etc., we
must have

cos? @+cos* &’ +cos? a”’ = 1 l
cos® f+4cos? f'+cos* B =1+ (E)
cos? ¥ 4cos? y'+cos? ' =1 5

4*
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cos & cos ¥ +cos @’ cos y'+cos a’’ cos y =
cos f3 cos y+cos 3 cos ¥'+cos 3 cos ' = o

(F)

cos a cos f3+cos a’ cos f3'+cos a”’ cos B = o l
o

and the new coordinates expressed in terms of the old are

A'=acos @ +ycos 3 +zcos y
Y =waxcos & +ycos i’ +zcos ¥y r (F)
3" = acos @’ +ycosf” +zcosy”

71. In the study of surfaces by sections made by planes it is often
necessary to transform the coordinates in space to coordinates in
the cutting plane. To do this we must fix the plane with reference
to the old coordinate planes. Let the equation of the plane be given
as z=Ax+By. Then the angle § which this makes with the plane

I
————— and the

v/ 1+A+B?
angle @ which it traces on that plane makes with the axis of x

ay is determined by the equation cos 6=

by the equation tan @ = — %, the trace being Ax+By = o.

Let 'Oy’ be the given plane, cutting the plane ay in the line
Ox' which take for the axis of a'and let Qy' a line perpendicular
to it in the given plane be the axis of ¥ and OR = a', RM =1/
the coordinates of any point M in the plane referred to the axes O,
Oy ; also let OQ = &, QP =1, PM == z be the coordinates of M
referred to the old axes Ov, Oy, Oz. Then the angle MRP = ¢
and #Ox" = @. (Fig. 17.)

Then PR = 3 cos 6, PM =y’ sin 6.

0OQ = OR cos @+RPsin @, QP = OR sin —RP co: .

s 2=y sin 0
x=ux' cos @+yp cos Osin @ r (65)
=" sin @—y' cos 0 cos @

And if these values be substituted in the equation of any surface
F(x, », 5) = o the result will be a relation between x’ and ', coor-
dinates of the curve cut from the surface by the plane.

72. If the cutting plane contain one of the coordinate axes, the

formule are simplified and in many cases sufficiently general.
Let 'Oy (Fig. 18) be the cutting plane containing the axis of y;
Ox' its trace in the plane; zx the axis of a’; PM = a', OM = ¢
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the coordinates of any point P in the section ; ON =, NQ =y,
QP = z, the coordinates of P referred to the old axes. Then angle
PMQ = 6, and MQ = a' cos 8§ PQ = a'sin . .:. The formule
of transformation are

x=ua' cos

y=y (66)

7 = &' sin 6

That is, we have only to make x = x'cos , 2 = x'sin §, y =’ in
the equation of any surface, in order to find the equation of the sec-
tion of this surface by a plane containing the axis of yand making an
angle # with the plane xy.



CHAPTER VI

THE SPHERE.

73. 0 find the equalion of the sphere.

1°, In rectangular coordinates.
Let a, 4, ¢ be coordinates of the Centre, and Radius = R.

The equation is then (Art. 11)(x—a)’+ (y—08)*+ (¢—c)*=R2 (67)
or if the origin be at the centre

A4yt =R (68)

2°. In oblique coordinates.
Let A, u, v be the angles of the axes then the equation is (Art. 16)

(x—a)?+(y—08)*+ (z—c)*+2(x—a)(y—6) cos A+
- 2(x—a)(s—c) cos p+2(y—0b)(s—c) cos ¥ = R* (69)
or if the origin be at the centre

x4 324374 2ay cos A+ 2x2 cos p+ 292 cos v = RE - (70)

3°. In polar coordinates

Let 7, w, f8 be the polar coordinates of the centre then the equa-
tion is
7+ r'*—z2rr'(cos 0 cos a+sin @ sin a cos (p—B))=R’. (71)

If the pole be at the origin and the centre on the axis of z, the
equation is

7 =2R cos 0. (72)
Since that is the equation of the generating circle in any one of its

positions,
44
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4. The Sphere wader conditions (coordinates rectangular).
The equation (67) may be written

Attt —2av —2by—203+a' + 8+ R =0
o 2+ 42+ Dx+Ey+Fz+G =o0.  (73)

And since this equation contains fowr arbitrary constants, the
sphere may be made to fulfil /our conditions (which are compati-
ble) and no more. Four given conditions give four equations for
determining the constants D, E, F, G, and with these determined
we know the radius and centre of the sphere, for we have only by
completing the squares to throw the equation (73) into the form

D\? E\* F\* D E: F
(#43) + (r5) + (43 ) = +7 +5—C
2 2 2 45 ANEBa,

g D E F AT
to see that the centre is ST ——;) and the radius is

1°, The equation of a sphere passing through a given point d, e, f, is
P44+ D(x—d )+ E(y—e) + F(z—f ) —d*—E—F* = o. (74)
If the given point be the origin the equation is

x+3'+2°+Dx+Ey+Fz = 0. (75)

2°. The equation of a sphere culting the axis of z at distances ¢ and c’
Jrom the origin is
X =0
S0
must give two values for z, ¢ and ¢/, and this equation fulfils that

4+ (2—c)(3—c)+Dx+Ey=0 (76) for

condition.
3°. The equation of a sphere louching the axis of z at a distance c from
the origin is
A4y (z—c)*+Dx+Ey = o (77) for this gives two coinci-

=0
dent values of 2 = ¢ when } ;
_}’———O
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(]

4°. The equation of a sphere touching all three axes at distance a_from
origm. .
To meet these conditions the equation must be of such a form as

1 W=0
to give equal roots for z when ’—-o} the same equal roots for y

= =
when . o} and the same equal roots for x when Y B } o et
== o

the distance of points of contact from origin be a, then the equation
will be

x*+z2ax+y*+2ay+52+z2az+a* =0 (78)

as this fulfils the above conditions.
5°. The equalion of a sphere passing through the origin and having ils
centre on lhe aris of X is
x4y +22 = 2Ra. (79)
6°. The equation of a sphere langent lo the plane Xy al the point (a, b)
is
(x—a)’+(y—b)*+2"+Fz=o0 (80)

for then z=o0 gives x=a, and y=4, a point (e, ) in the plane xy.
75. Inlerprelation of the expression
(3—a)'+ (=0 + (s=cf =R (1)

1°, Let (x, 7, 5) be the coordinates of a point P without the
sphere whose centre O is (g, 4, ¢) and radius = R and let PM be
tangent to this sphere at the point M. Then PM* = OP*—OM"

Now OP*=(x—a)' + (y—0)" +(z—0)’
and hence PM? = (x—a)’+ (y—8)* +(3—¢)*—R™
Therefore the expression (1) is the square of the tangent from the

point P to the sphere.

2°, Let P (x,y, 2) be a point within the sphere. Join OP and
erect a perpendicular PM to OP meeting the sphere in M, and join
OM.

Then PM*=0M*—OP! = R*— ((x—a)*+ (y—0)*+ (3—¢)")
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That is the expression (1) becomes negative and represents the
square of the half chord through P perpendicular to the radius
through P.

76. Radical plane of fwo sphercs.

Def. The radical plane of two spheres is the plane the tangents
drawn from any point of which to the two spheres are equal.

If the equations of the two spheres are

(x—a)’+(y—8)*+ (2—c)’=R?and(x—a')*+ (y—5')*+ (s —')’=R"

the equation of their radical plane is

(x—a)+ (=08 + (5—e)*—R'— ((x—a')’ + (y—0')+ (2—¢")*—R")
=0
For this expresses (Art. 75) that the squares of the tangents from
point (&, », 2) to the two spheres are equal, and moreover it is an
equation of the first degree in «, y and z and therefore the equation
of a plane. If the spheres intersect their radical plane is their
plane of intersection. It may be easily proved that the radical
plane of two spheres is perpendicular to the line joining their cen-
tres.

77. The six radical planes of four spheres infersect in a common
pount,

LetS=o0,8" =0; §$"=0; S""= 0 be the equations of the four
spheres. Then the equations of their radical planes are

S-S =o S —-8S" =o
SEcTasel o SEANSII— o
S—§" =o S0 S Sl

These may be arranged in groups of four equations, which added
vanish simultaneous!y and therefore the planes intersectin a common
point. This point of intersection of the six radical planes is called
the radical centre of the four spheres.

78. Examples :
1°. Find the centres and radii respectively of the spheres

. A4y —2x + 3y —sz=o0.



48 NOTES ON SOLID GEOMETRY.

5x° 4597+ 58— 120 + 20y + 242— 40 = O.
x"+y’+zi'—4x+5y = (o,
Xyt =32z

2°. Find the equation of a sphere passing through the origin and
the points 1, 2, 3, —1,4,5, 3,0, 1.

CHAPTER VII

CYLINDERS, CONES, AND SURFACES OF REVOLUTION.

79. CyLINDERS. Def. A ¢ylinder is a surface generated by the motion
of a straight line which always intersects a given plane curve, and is
always parallel to a fixed straight line. ‘The moving straight line is
called the generatrix ; the plane curve which it always intersects is
called the direclrix or guiding curve.

80. 7o find the general equation of a cylinder (coordinales rectangular).
Let m, n, 1 be the direction cosines of the axis.

X =
And let i
y=n+gq
which 7 and » are constant since the generatrix remains parallel to
the axis. For convenience take the guiding curve in the plane xy,

} (1) be the equations of the generatrix in

its equations will then be F(J{yliz } . (2) Now making z=o0 in

the equations (1) we obtain x=p y=g¢ for the point in which the
generator pierces the guiding curve F(x, y) in the plane xy.

Hence we have F( g, ¢) = o, (3) and eliminating the arbitraries p
and ¢ between (1) and (3) we obtain

F(x—mz, y—nz) =0 (82)

the general equation of cylinders.

If the cylinder be a right cylinder with its guiding curve in the
plane ay and the axis of z for its axis, then in equation (82) m = o,
and #=c, and the required equation of the cylinder is

F(x, y) =o0. (83)
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81. Cylinders of second order. We shall confine ourselves to cylin-
ders whose equations are of the second degree.

1°. 70 find the equation of the obligue cylinder with circular base.

Here F(x, y) = a* + y*—R*=o0. Hence F(x—ms, y—nz) =0
gives (w—mz)®+(y—nz)’—R?*= o (84) the required equation.

2°. 70 find the equation of the right cylinder with circular base. 1f
the axis be the axis of 3, the equation is F(ay)=o that is

Xt yQ-—R’: o.
3° To find the oblique cylinder with elliptical base. Let the guiding

2 2

curve in plane xy be ;%+%_, ) L A
Then F(x, y) = = +753_ 1 = o and the equation is
x — mz)? —nz)?
( 5 ke o]

4°. The equation of the right cylinder with elIiptical base whose

2

L
62

5° The equation of the right parabolic cylmder whose guiding
curve is 3* = 4dx; z = o, is * = 4dr.

axis is the axis of z is F(x, y) = o, that is, =k

82. ConEs.

Def. A cone is a surface generated by a straight line which passes
through a fixed point and always intersects a given plane curve.
The fixed point is called the zerfex, the moving line the generator,
and the given plane curve the directrix or guiding curve.

83. 70 find the general equation of a cone.

Let the coordinates of the vertex be (q, &, ¢) the equation of the

x—a _ y—=b z—c
s I WA RS

generator

plane (xy)—its equation being then D) = O} (2). Now if we
=i

eliminate 7 and # by means of the definition of cone and the equa-
tions (1) and (2), the resulting equation will be the equation to the
cone, the locus of the right line (1).

Making z = o in (1) the values of x and y, namely, o }

: y=6b—nc
which result will be the coordinates of the point in which the gene-
5



50 NOTES ON SOLID GEOMETRY.,

rator meets the plane ay and these will consequently satisfy F(x, »)

= o the equation of the directrix. ~We have therefore
)

Fla—me, b—nc) =0 (3). Butfrom (1) m = PR iy T

and therefore (3) becomes

F<a—£ (.7;::1), b— (y 5)>_o

az—cx  bz—cy
or P ) =0 (&)
the general equation of cones. If vertex be on axis of z, thena =0
and 4 = o and equation (85) becomes I<< _x;, Z__O;) =o. (86)

84. Cone with verlex al origin.

If the vertex of the cone is at the origin and the directrix in a
plane parallel to the plane ay, and at a distance ¢ from it then the

. oy 24 &
equation of the generatrix will be — :%:T, (1) the vertex (o, o, 0)
m

and the directrix will be S S O} G
ER==N
To find the point in which the generator meets the directrix we

makez=cin (1). We thus get bl }

= nc
& ¥
Hence we have F(me, nc) = o, but m = % and 7 == from (1).

Therefore
X oy
<~ ) =0 (87)

is the equation required.
The equation (87) is a homogeneous equation in x, y and 2. .

o

85. Cones of second degree.  1°. The equation of an obligue cone with
circular base.

The equation of the directrix is F(x, y) = 4’ +y'— R* = o.

Hence

az —cx  bz— ¢y . [az—cx\? bz —cy
F< ) '1>=01s< )+( — ) —R’=o0
g—c g—c 2—c g—c
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or (az —cx)’+ (b2—oy)’=R(z—c)>.  (88)

2°. 70 find the equation of a right cone with circular base, the axis of

z being the axis of the cone and vertex being (o, o, ¢). The equation
F(x, y)=a*+y"—R’=o0
=

of the directrix is

X —¢y Fogh ?

z—c z—c) ois( £)? (z ¢)?

Hence F( —R!*=o0

2
or .x"+y’=—1j7(z—f)2 (89). Thisisa cone of revolution about the
axis of z.

3°. The equation of a right cone with verfex at the origin and circular,
elliptical, or hyperbolic bases.
The equations of the circular base (directrix) are
F(x, y)=2*+)'-R’=o0 }
ST

Hence

2 2

A 2 2 R
F(cx Cy) = o0 gives —f—-+—“—v——R’_O orx’+y'=—.2% (9o)

The equations of the elliptical and hyperbolic directrices are

2 2
5 J/ - Xy -
Fohgn 1 80 and 25 1= 9L tespectively.
z=c¢ g=¢
Hence the cones are
o R R T2
Tatpp— = oo s tn= (91)
Vs < AT
T T pg T g 9

86. SURFACES oF REVOLUTION.

70 find the gencral equation of a surface generated by the revolution of
a plane curve generalor about the axis of z.

Let SP=7 be an ordinate of the point P to the axis of z of the
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plane curve and OM =x, MN =y, NP =z the coordinates of P.
Then SP?* = ON? = OM?*+ MN?, or 7* = a* 432

That is, the distance from any point of revolving curve (gen-
erator) from the axis of z is 7=4/a"+* (1). But  being an ordi-
nate of the generating curve to the axis of z we must have by the
equation of the curve in any position » = F(2) (2). Therefore
eliminating the arbitrary » between (1) and (2) we have

Val+y' = F(2) (93)

the required equation of surfaces of revolution about axis of 2.
If the curve revolved about the axis of x the equation is

Ve =Fx). (94)

87. Surfaces of revolution of second order.

1°. Equation of Cylinder of revolution about the axis of z. The
equation of the revolving line is » = a.

. A/x 4yt = F(z) gives a’+y* = a’
2°. Eguation of a Cone of revolution about the axis of z, verfex at

(0, 0, ¢). The equation of the generating line is 7 = m(z—¢).

Hence x*+3* = m*(z2—c)* (95) the required equation where 7 is
the tangent of the angle made by side of cone with axis of .

3°. Egquation of the Sphere. The equation of the generating curve

is 72422 = @’ or r = a’—3%

Hence APy = a*— 2" or &4y’ 420 = a’

4°. Eguation of the Surface generaled by the revolulion of an ellipse

about ils conjugate axis.
r? 2

The generator 1s tp=1or r 52(6“‘— ?).

Hence the equation of the surface is
a?
oyt = S —2)

3 x?_l_ 2 z‘l
or "__ﬂi'l"ﬁ: 1. (96)

a

This is one of the elipsoids of revolution called the oblate spheroid.
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5°. Eguation of the Ellipsoid generaled by the rcvolution of an ellipse
about ils transverse axis the (Prolate spheroid).

Take the axis of x as the axis of revolution. Then the equation
: 2 r?
of the generator is ?+ﬁ =i

69
B — a—g(a’—x‘))- Hence 4/ 3*+2* = F(x) gives

2y 2_5_2(9_ 2
el z"‘aa‘a x°)

Y AR
or -y 8 F=1 (97)

the required equation,

88. Hyperboloids of revolution. Definitions. When the Hyperbola
revolves about its conjugate axis it generates the Hyperboloid of revo-
lution of one sheet.  When it revolves about the transverse axis it gen-
erates the hyperboloid of revolution of two sheets. '

1°. Equation of the Hyperboloid of one sheel. Let the axis of z be

2 2

2 ¥ g a’
the conjugate axis then Fop=ror e zﬁ(z?+t§2). Hence

2
X247 =%(z7+b’)

x9+ 2 2,2
£ (98)

or S = 1§
a? bﬁ

2° The equation of the Hyperboloid of revolution of fwo sheets. Take
the axis of & as the axis of revolution. Then the equation of the
2,0 9
1 — QF W 2 2
generator is — —z =1 orrf=-, (#*—a?).
Hence for the equation of the surface we have

3
y9+ze =_;2_(x9___a2)

2 P4
o b i et L

a

89. Equation of the Paraboloid of revolution about the axis of Xx.

The equation of the generator is 7* = 4dx.
Hence the equation of the Surface is 3*+3* = 4dx. (100)

5*



CHAPTER VIIIL
ELLIPSOIDS, HYPERBOLOIDS, AND PARABOLOIDS.

89. 0 find the equation lo lhe surface of an Lllipsoid.

Def. This surface is generated by a variable ellipse which always
moves parallel to a fixed plane and changes so that its vertices lie on
two fixed ellipses whose planes are perpendicular to each other and to
the plane of the moving ellipse, and which have one axis in common.

Let BC, CA (Fig. 19) be quadrants of the given fixed ellipses traced
in the planes yz, 2x; OC = ¢ their common semi-axis along the axis
of 2, OA = a (on the axis of x), and OB = 4 (on the axis of y) the
other semi-axes; QPR a quadrant of the variable generating ellipse
in any position, having i's centre in OC and two of its vertices in the
ellipses AC, BC, so that the ordinates QN, RN are its semi-axes;
also let ON = 2z, NM = &, MP = y be the coordinates of any point
Pinit:

Then ks 2 = 1. And since Q is on the ellipse AC we

Nt TRN?
QN. = ) RN? e
have —, P=1— = Similarly T e

Hence eliminating RN* and QN? we have

o P
3 —z“+‘"“'} W
6’(1———) 6’<I—f~>
74 Ty
3—" 2 2
or 7+%ﬂ—+—%= 1, (101)

the equation to the surface.
90. 70 determine the form of the ellipsoid from ils equation. Since in

x! -}/? 2
the equation ?4-?-}-7—:1, « can only receive values between a

54
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and — a, y between & and — 4, and 2z between ¢ and — ¢, the surface
is limited in all directions.

» .xﬁ 2 :
If we put 2= 0 we obtain —2+}— =1, for the equation to the
a I

trace on ay, which is therefore the eilipse AB.
-2 2
If we put ¥y = o we have ZT+'ZT =1, the ellipse AC.
(3

2 Mt :

If we put & = o we have o =5nor the ellipse BC.

These three sections by the coordinate planes are called the pranci-
pal sections, and their semi-axes g, §, ¢, are the semi-axes of the ellip-
soid ; and their vertices the vertices of the ellipsoid, of which it has six.

1f we make 2=/% we have

At gl JA

e L
the equations of any section parallel to xy, which is an ellipse similar
to AB, since its axes are in the ratio of @ to 4, whatever be the value
of 4, and which becomes imaginary when 2 > ¢. In the same man-
ner all sections parallel to xz, and yz are ellipses respectively similar
to AC and BC. The whole surface consists of eight portions pre-
cisely similar and equal to that represented in the figure.

xﬁl +—}2 22

Cor. If 4 =a the ellipsoid becomes ol =2 the ellip-

soid of revolution about the axis of z, Art. (87), all the sections of
which by planes parallel to sz, are circles. Hence the spheroids may
be generated by a variable circle moving as the variable ellipse, in
Def. Art. (89).

91. 70 find the equation fo the hyperboloid of one sheet,

Definition. This surface is generated by a variable ellipse, which
moves parallel to a fixed plane, and changes so that its vertices rest
on two fixed hyperbolas, whose planes are perpendicular to each
other, and to the plane of the moving ellipse, the two hyperbolas
having a common conjugate axis coincident with the intersection of
their planes. (Fig. 20.)

Let AQ and BR be the given hyperbolas traced in the planes zx, 3z §
OC = ¢ their common semi-conjugate axis coinciding with the axis
of z; OA =a, OB = 4 the semi-transverse axes ; QPR the generating
ellipse .in any position having its plane parallel to xy, its centre in
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OC, and its vertices in the hyperbolas AQ, BR, so that the ordinates
NQ, NR, are its semi-axes. Also, let MN =a, MP =y, ON = 2,
be the coordinates of any point P in the generating ellipse ; then the
ellipse PQR gives

:‘.2 yQ
Nt NR T
g Fuo
Also from hyperbola AQ I\;? = :7 =1,
N 3% T <)
And from hyperbola BR h;}- ==
4 C
Hence,
; =1;
( ) )
or i) + 2,: 22 Tzf = 1 (102) the equation to the surface.

92. To delermine the form of the hyperboloid of one sheet from ils
equation.

Since the equation (102) admits values of &, y and z positive and
negative however large, the surface is extended 1ndeﬁmtely on all
sides of the origin. If we put 2 = o we obtain

2
—A—+%§ =1 for the trace on xy which is the ellipse AB. Similarly
‘xQ Z?
the sections by the planes az and yz are respectively R o the
? i

hyperbola AQ, and—é;—%_ 1 the hyperbola BR. The ellipse AB

and the hyperbolas AQ and BR are the principal sections. The sections
parallel to xy are all ellipses similar to and greater than AB. The
sections parallel to xz and yz are hyperbolas similar to the prmc1pal
sections.

The semi-axes @ and & are called the rea/ semi-axes of the surface
and ¢ the imaginary semi-axis, since &+ = o and y =o give z =
+ c4/—1. The extremities of the real axes are called the
vertices of the surface. The surface is continuous and hence is
called the hyperboloid of one sheet. The hollow space in the inte-
rior of the volume of this hyperboloid of which the ellipse AB is the
smallest section has the shape of an elliptical dice-box.
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2 2,
x;ﬁ_%= 1 that of the

Cor. If 4 = a the equation becomes

hyperboloid of revolution of one sheet. Its sections parallel to xy
are all circles.

93. 70 find the equalion lo the hyperboloid of fwo sheels.

Definition. This surface is generated by a variable e/zpse which
moves parallel to itself, with its axes on two fixed planes at right an-
gles to each other and to the plane of the generating ellipse and ver-
tices in two hyperbolas in those planes having a common transverse
axis.

Let AQ and AR be the given hyperbolas traced in the planes zx,
2y, OA = a their common semi-transverse axis along the axis of x,
OB =4 OC = ¢ the semi-conjugate axes along the axes of y and z ;
QPR the generating ellipse in any position having its plane parallel
to yz, its centre in Ox, and its vertices AQ, AR so that the ordinates
QN, RN are its semi-axes. Let ON =&, MN =y, MP = z be the
coordinates of any point P in the ellipse. (Fig. 21.)

4 2t
Then RN + (sz = i
J\ 2 E 2
also from hyperbola AQ %y — g
) 2 2
and from hyperbola AR B[;i = ;_;3 — =
i 2 U
Hence P b= 2oy
Eikiiiz, NS
oy L R
x’ _)/2 4
4 F o F —a=10 (109)

the equation to the surface.

94. To determine the form of the hyperboloid of two sheets from ils equa-
tion. ;

The equation shows that all values of & between +a and —a give
imaginary results, therefore no part of the surface can be situated be-
tween two planes parallel to yz through A and A’ the vertices of the
common transverse axis ; but the equation can be satisfied by values
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of x, 5, 2, indefinitely great, therefore there is no limit to the distance
to which the surface may extend on both sides of the centre.

}2 29

If we make x = o we have 5 + P Ha et imaginary curve

for the principal section by the plane y2. Fora =+ Zand %2> a
2 2 /2

we have ‘—Z—s— + -jT = i—,~ — 1 which represents similar ellipses. The

principal sections by the planes ay and zx are AR and AQ, respec-

tively. For the sections parallel to xy and putting z= 47 we
2 2

have ':‘;—2 — —}57
in AQ and the opposite branch of that hyperbola and conjugate axis
parallel to Oy. In the same way the sections parallel to za are hy-
perbolas similar to AQ with vertices in AR and its opposite branch
and conjugate axes parallel to Oz, 2a is the rea/ axis of the surface
and its vertices the vertices of the surface. The axes 24 and 2¢
are the imaginary axes of the surface as it cuts neither y nor z. The
whole surface consists of two indefinitely extended sheets perfectly
similar and equal, separated by an interval. Hence its name.

ll
=1+—a hyperbola similar to AR with its vertices

ot ¥+ 2

Cor. If 4 = ¢ the equation becomes 3 =1 the equa-

2 ‘I

tion to the hyperboloid of revolution about its transverse axis.

95. Asymplotic cones to the two hyperbolords,

1°. The hyperboloid of one sheet has an inferior asymptotic cone.

ST ¥ o 2 o s
Putting its equation ke e kot (1) in the form
2 2 2 2
x—2 + ’—yT: —z?—<1 + —€;> (z) Now when z is very great
a b ¢ 3
C?

— is very small, and hence the limiting form of (2) for z increased
2
without limit is
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